The group G is isomorphic to the group labelled by [ ”could not identify G” | in the Small Groups library.
Ordinary character table of G = (C3 . A6) : C2:

la 2a 2b 2¢ 3a 3b 3c 4a 4b ba 6a 6b 6¢c 12a 15a 150

X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

X2 1 -1 -1 1 1 1 1 1 -1 1 1 -1 -1 1 1 1

X3 5 -3 1 1 5 2 -1 -1 -1 0 1 0 1 -1 0 0

X4 5 -1 3 1 5 -1 2 -1 1 0 1 -1 0 -1 0 0

xs | 5 1 =3 1 5 -1 2 -1 -1 0 1 1 0 -1 0 0

xe | 5 3 -1 1 5 2 -1 -1 1 0 1 0 -1 -1 0 0

x7 | 6 0 0 -2 -3 O 0 2 0 1 1 0 0 -1 —E(577—-FE(15) 11— E(15) 13— E(15)" 14 —E(15) — E(15) 2 — E(15)°4— E(15)" 8

xs | 6 0 0 -2 -3 0 0 2 0 1 1 0 0o -1 —E(15) — E(15)"2— E(15)"4— E(15)" 8 —E(15)77—E(15)" 11 — E(15)" 13 — E(15)" 14

xXo | 9 -3 =3 1 9 0 0 1 1 -1 1 0 0 1 -1 -1

Xxwo| 9 3 3 1 9 0 0 1 -1 -1 1 0 0 1 -1 -1

xi1]10 -2 2 -2 10 1 1 0 0 0o -2 1 -1 0 0 0

xi2 10 2 -2 -2 10 1 1 0 0 0o -2 -1 1 0 0 0

xi3 |12 0 0 4 -6 O 0 0 0 2 =2 0 0 0 -1 -1

X4 | 16 0 0 0 6 -2 -2 0 0 1 0 0 0 0 1 1

x5 |18 0 0 2 =9 0 0 2 0 -2 -1 0 0 -1 1 1

X16 | 30 0O 0 -2 =15 0 0 -2 0 0 1 0 0 1 0 0
Trivial source character table of G = (C3 . A6) : C2 at p = 2
Normalisers Nl N1 N2 N3 N4 N5 N6 N7 Ng Ng N10 Nll ng N13 N14 N15 N]_ﬁ N17 N18 ng
p—SUbgTO'I.LpS Of Gup to conjugacy in G P1 P2 Pg P4 P5 PG P7 Pg Pg P10 P11 P12 P13 P14 P15 P16 P17 Plg Plg
Representatives nj € N; la  3a 3b 3c b5a 15a 15b la 3c|la 3b|la 3a |la 3a|la|la 3¢ 3a 3c|la|la|la 3¢ 3b 3b| la | la | la |la 3a |la 3b| la | la |la 3c | la
l-xya+1-xo+1-xa+1-xa+1-xs+1-x6+0-x7+0-xg+1-xo+1-x10+2-x11+2-x12+0-x13+0-x14a+0-x15+0-x16| 80 80 8 8 0 0 0 o oo o000 0|0 O 010 O 0 0 0] 0|0 O 0 0 0 0 0 0 0|0 O 0 0 0 0 0
0-x1+0-x2+0-xs+1-xa+1-x5+0-x6+0-x7+0-xs+1-x0+1-x10+1-x11+1-x12+0-x134+0-x14+0-x15+0-x16 | 48 48 0 6 -2 —2 -2 O 0|0 O[]0 OO0 O 00 O 0 0 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x2+1-x3+0-x4+0-x5+1-x64+0-x74+0-xs+1-x0+1-x10+1-x11+1 -x12+0-x134+0-x14+0-x15+0-x16 | 48 48 6 0 -2 -2 -2 O 0|0 O[]0 OO0 O 010 O 0 0 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x74+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+1-x16| 48 —-24 0 0 3 —E(15)—E(152—-E(15)4—-2xE(15) 7—E(15) 8 —-2xE(15)7 11 —2x E(15)" 13 —2x E(15)" 14 —2xE(15) -2+« FE(15)°2—-2xFE(15)4— E(15)°7—2x E(15)" 8 — E(15)" 11— E(15)"13—-FE(15)14|0 0|0 0 |0 O |0 O 010 O 0 0 O] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+1-x8+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+1-x16 | 48 —24 0 0 3 —2xE(15)—2x«E(15)2—-2xE(15)4— E(15) 7—2x E(15)" 8 — E(15)" 11 — E(15)" 13 — E(15)" 14 —E(15) — E(15)72—-E(15)4—-2*x E(15) 7— E(15) 8 —2x E(15) 11 —2x E(15)"13 -2+« E(15)714| 0 O [0 O [0 O | O O 010 O 0 0 0 0]0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-X9+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16| 16 16 -2 -2 1 1 1 o o]0 OO0 0|0 O 0|0 O 0 0 0 0]0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xg+0-x9+0-x10+0-x11+0-Xx12+0-x13+0-x1a+1-x15+1-x16| 48 24 0 0 -2 1 1 0o o0 OO0 O0}]0 O 010 O 0 0 0] 0|0 O 0 0 0 0 0 0 0|0 O 0 0 0 o0 0
Toxa+0-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16 | 40 40 4 4 0 0 0 8§ 210 0[]0 0|0 O 010 O 0 0 0] 0|0 O 0 0 0 0 0 0 0|0 O 0 0 0 O 0
0-x1+0-x2+0-x3+1-xa+0-x5+0-x64+0-x74+0-xs+0-x0+1-x10+1-x11+0-x12+0-x134+0-x14a+0-x15+0-x16 | 24 24 0 3 -1 -1 -1 § —-110 O |0 0|0 O 0|0 O 0 0 0 0]0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-x8+0-xo+1-x10+1-x11+1-X12+0-x3+0-x14+0-x15+0-x16| 40 40 4 4 0 0 0 O 0|8 20 0|0 O 00 O 0 0 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 O 0
0-x14+0-x2+0-x34+0-x4+0-x5+1-x6+0-x7+0-xg+0-Xo+1-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16 | 24 24 3 0 -1 -1 -1 0O 08 —-1|0 00 O 0[]0 O 0 0 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
l-xya+1-xo+1-xa+1-xa+1-xs+1-x6+0-x7+0-xg+1-xo+1-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16| 40 40 4 4 0 0 0 0 0|0 0|8 8]0 O 010 O 0 0 0] 0|0 O 0 0 0 0 0 0 0|0 O 0 0 0 o0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+2-x13+0-x1a+1-x15+1-x16| 72 =36 0 0 2 -1 -1 0O 0|0 0|8 —-4|0 0 00 O 0 0 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4a+0-x5+0-x6+0-x74+0-xg+1-xo+1-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16 | 20 20 2 2 0 0 0 o o0 0|4 4,4 4]0/|0 O 0 0 0] 0|0 O 0 0 0 0 0 0 0|0 O 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+1-x7+1-x8+0-x90+0-x10+0-x11+0-x12+2-x13+0-x1a+1-x15+1-x16| 84 —42 0 0 4 -2 -2 o 0|0 0|4 =214 =2]01]0 O 0 0 0 0]0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+1-xs5+1-x6+0-x7+0-x8+0-Xo+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 20 20 2 2 0 0 0 o 0|8 2|4 4,0 0140 O 0 0 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
1-xi+1-x2+0-x3+1-xa+1-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16 | 12 12 0 6 2 2 2 0o 0|0 04 4|0 O 0|4 4 4 41000 0 0 0 0 0 0 0 0|0 O 0 0 0 0 0
O-x1+0-x2+1-x3+0-xa+0-x5+1-x6+0-x74+0-xs+1-x0+1-x10+0-x11+0-x12+0-x134+0-x14a+0-x15+0-x16| 28 28 4 -2 =2 —2 -2 0O 0|0 O01[4 4|0 0O 014 -2 4 -2101]0|0 0 0 0 0 0 0 0O 0|0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11+0-x12+1-x13+0-x1a+1-x15+1-x16| 60 —-30 0 0 0 0 0 0O 0|0 014 =210 0 014 4 -2 —=2101]0|0 0 0 0 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16 | 12 -6 0 0 2 -1 -1 0O 0|0 0|4 =210 O 014 -2 -2 1 0] 0|0 O 0 0 0 0 0 0O 0|0 O 0 0 0 O 0
1-x1+0-x2+1-x3+2-xa+1-xs5+2-x6+0-x7+0-xg+1-xo+4-x10+2-x11+2-x12+0-x13+0-x14a+0-x15+0-x16 | 116 116 8 8 —4 —4 —4 12 0|12 0|4 4|0 O 010 O 0 04,00 O 0 0 0 0 0 0O 0|0 O 0 0 0 o0 0
1-x14+0-x2+1-x3+1-x4a+0-x5+0-x6+0-x74+0-xs+0-xo+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 | 20 20 2 2 0 0 0 8 2|10 0|4 4|0 0 010 O 0 0 0] 4]0 0 0 0 0 0 0 0 0|0 O 0 0 0 O 0
1-x14+1-x24+1-x3+0-x4+0-x5+1-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 | 12 12 6 0 2 2 2 0O 0|0 014 4|0 0O 00 O 0 0 0] 01| 4 4 4 4 0 0 0 0O 0|0 O 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-x54+0-x9+0-x10+0-x11+0-x12+1-x13+0-x1a+1-x15+1-x16| 60 =30 0 0 0 0 0 0O 0|0 014 =210 0 00 O 0 0 0] 01]4 -2 4 —-2|0 0 0 0O 0|0 O 0 0 0 0 0
O0-x1+0-x2+0-x3+1-x4+1-x5+0-x6+0-x7+0-xg+1-x9+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 28 28 -2 4 -2 -2 -2 0o 0|0 O0[4 4|0 O 010 O 0 0 0] 0|4 4 -2 =2|0 0 0 0 0|0 O 0 0 0 O 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16| 12 -6 0 0 2 -1 -1 0o 0|0 04 =210 0 010 O 0 0 0j]0]4 -2 =2 1 0 0 0 0 0|0 O 0 0 0 o0 0
1-x14+0-x24+0-x34+1-x4a+0-x5+1-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16 | 20 20 2 2 0 0 0 0O 0|0 014 4|0 0O 010 O 0 0 0] 0|0 O 0 0 4 0 0 0O 0|0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x44+0-x5+0-x6+0-x74+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0"- X156 6 6 0 3 1 1 1 4 1 0 0 2 2 0 0 0 2 2 2 2 0 2 0 0 0 0 2 2 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-x4+0-x5+0-x6+0-x7+0-xs+0-xo0+1-Xx10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16| 10 10 1 1 0 0 0 4 14 11|12 2112 2 210 O 0 0 0 210 O 0 0 0 0 2 0O 0|0 O 0 0 0 0 0
1-x14+1-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16| 2 2 2 2 2 2 2 o o]0 0|2 2|2 2 0|2 2 2 2 0 0|2 2 2 2 0 0 0 2 210 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16| 18 -9 0 0 -2 1 1 o o|jo o0}2 —-12 =102 2 -1 -=-1]0 0]2 -1 2 =10 0 0 2 =170 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+0-x5+1-x6+0-x7+0-x8+0-x9+1-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 30 30 6 0 0 0 0 6 0|2 2|2 2|0 0 00 O 0 0 2 212 2 2 2 0 0 0 0 0|2 2 0 0 0 0 0
O0-x1+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-xs+0-x9+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 14 14 -1 2 -1 —1 -1 6 0|2 —-1{2 2|0 0 0[]0 O 0 0 2 212 2 -1 -1 0 0 0 0 0|2 —-1] 0 0 0 0 0
1-x14+0-x2+0-x3+1-xa+0-x5+1-x6+0-x74+0-xs+1-xo+2-xw0+1-x11+1-x12+0-x13+0-x14a+0-x15+0-x16| 58 58 4 4 =2 -2 -2 6 0|6 012 2|2 2 00 O 0 0 210110 0 0 0 2 0 0 0O 0|0 0 2 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+1-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0"-Xx16 6 6 3 0 1 1 1 0 0 4 1 2 2 0 0 2 0 0 0 0 0 0 2 2 2 2 2 0 0 0 0 0 0 0 2 0 0 0
1-x14+0-x24+0-x34+1-xa+1-x5+0-x6+0-x7+0-xs+0-xo+1-x10+0-x11+1-x124+0-x13+0-x14+0-x15+0-x16| 30 30 0 6 0 0 0 2 2|16 012 2|0 0 212 2 2 2 210110 0 0 0 0 0 0 0O 0|0 O 0 0 2 2 0
0-x14+0-x2+0-x34+0-x4+0-x5+1-x6+0-x7+0-xs+0-x0+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 14 14 2 1 -1 —1 -1 2 -1/6 0|2 2|0 0|22 -1 2 —=1}2/|0|0 0 0 O 0 0 0|0 O0]0 O 0 0|2 —-1] 0
1-x14+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

P = Group([()]) = 1

P, = Group([(1,8)(2,3)(5,9)(6,13)(10, 12)(11, 18)(15, 16)]) = C2

P5 = Group([(1,8)(2,3)(4,17)(5,9)(6, 16)(7, 14)(10, 11)(12, 18)(13, 15)]) = C2

Py = Group([(4,17)(6,15)(7,14)(10, 18)(11,12)(13, 16)]) = C2

P5 = Group([(4,17)(6,15)(7,14)(10, 18)(11,12)(13,16), (1,8)(2,5)(3,9) (4, 14, 17,7)(6, 18, 15, 10)(11, 16, 12, 13)]) = C4

Ps = Group([(1,8)(2,3)(4,7)(5,9)(6,11)(10, 16)(12, 15)(13, 18)(14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13,16)]) = C2 x C2

P; = Group([(4,7)(6,18)(10,15)(11, 13)(12, 16)(14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11,12)(13,16)]) = C2 x C2

Ps = Group([(4,17)(6,15)(7,14)(10, 18)(11, 12)(13, 16), (1,8)(2, 3)(5, 9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x C2

Py = Group([(2,9)(3,5)(4,17)(6,13)(10, 11)(12, 18)(15, 16), (4, 17)(6, 15)(7, 14)(10, 18) (11, 12)(13, 16)]) = C2 x C2

P10 = Group([(1,8)(2,5)(3,9)(4, 17)(10, 18)(11,12), (4,17)(6, 15)(7, 14)(10, 18)(11,12)(13, 16)]) = C2 x C2

P11 = Group([(2,9)(3,5)(4,14,17,7)(6,11, 15,12)(10, 13, 18, 16), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16)]) = C4

P2 = Group([(2,9)(3,5)(4,17)(6,13)(10, 11)(12, 18)(15, 16), (4, 7)(6, 18)(10, 15)(11, 13)(12, 16) (14, 17), (4, 17)(6, 15)(7, 14) (10, 18)(11, 12)(13, 16)]) = D8

Py3 = Group([(1,8)(2,3)(4,7)(5,9)(6,11)(10, 16)(12, 15)(13, 18) (14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1, 8)(2,5)(3, 9)(4, 14,17, 7)(6, 18,15, 10)(11, 16, 12, 13)]) = D8

P4 = Group([(1,8)(2,5)(3,9)(4, 17)(10, 18)(11, 12), (4, 7)(6, 18)(10, 15)(11, 13) (12, 16) (14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16)]) = D8

P15 = Group([(1,8)(2,5)(3,9)(4,17)(10, 18)(11,12), (4, 17)(6, 15)(7, 14)(10, 18)(11,12)(13, 16), (1, 8)(2, 3)(5,9)(6, 13) (10, 12)(11, 18)(15, 16)]) = C2 x C2 x C2

P16 = Group([(4,17)(6,15)(7,14)(10, 18)(11,12)(13, 16), (1,8)(2,5)(3,9)(4, 14, 17,7)(6, 18, 15, 10)(11, 16, 12, 13), (1, 8)(2, 3)(5, 9)(6, 13)(10, 12) (11, 18) (15, 16)]) = C4 x C2

P.7 = Group([(1,8)(2,3)(4,7)(5,9)(6,11)(10, 16)(12, 15)(13, 18) (14, 17), (1,8)(2, 5)(3,9) (4, 17)(10, 18)(11, 12), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16)]) = D8

P,8 = Group([(4,7)(6,18)(10,15)(11, 13)(12, 16)(14, 17), (4,17)(6, 15)(7, 14)(10, 18)(11,12)(13, 16), (1,8)(2, 3)(5,9)(6, 13)(10,12)(11, 18)(15, 16)]) = C2 x C2 x C2

P19 = Group([(1,8)(2,5)(3,9)(4, 17)(10, 18)(11,12), (4, 7)(6, 18)(10, 15)(11, 13) (12, 16) (14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1, 8)(2, 3)(5,9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x D8

Ny = Group([(1,2,7,11,4)(3,8,15,17,10)(5,9, 16, 18,12), (2, 6)(3, 5)(4, 10)(8, 14)(9, 13) (11, 17)(15, 16)]) = (C3 . A6) : C2

Ny = Group([(4,14)(6,10)(7,17)(11,16)(12, 13)(15, 18), (2,9)(3,5)(6, 16)(7, 14)(10, 12)(11, 18)(13, 15), (4, 7)(6, 18)(10, 15)(11, 13)(12, 16)(14, 17), (1,8)(2, 3)(5, 9)(6, 13)(10, 12) (11, 18)(15, 16), (1, 2)(3, 8) (4, 7)(5,9)(10, 15)(12,16)]) = C2 x S4

N3 = Group([(1,8)(2,3)(4,17)(5,9)(6, 16)(7,14)(10, 11)(12, 18)(13, 15), (2, 9)(3,5)(6, 16)(7, 14)(10, 12)(11, 18) (13, 15), (4, 17)(6, 15)(7, 14)(10, 18) (11, 12)(13, 16), (4, 7)(6, 18)(10, 15) (11, 13)(12, 16)(14, 17), (1,4)(2, 18)(3,12)(5, 10)(6, 16)(7, 14)(8,17)(9, 11)(13, 15)]) = C2 x S4
Ny = Group([(2,9)(3,5)(6,16)(7,14)(10,12)(11, 18)(13, 15), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (4, 7)(6, 18) (10, 15)(11, 13)(12,16) (14, 17), (1, 3)(4, 6,17, 15)(7, 10, 14, 18)(8,9) (11, 16, 12, 13), (1, 8)(2, 3)(5,9)(6, 13) (10, 12) (11, 18)(15, 16)]) = D8 x S3

N5 = Group([(1,9)(2,5)(3,8)(4, 10)(6,14)(7, 15)(17, 18), (4, 17)(6, 15)(7, 14) (10, 18)(11, 12)(13, 16), (1, 8)(2, 5)(3,9)(4, 14, 17, 7)(6, 18, 15, 10)(11, 16, 12, 13), (1,8)(2,5)(3,9)(6, 15)(7, 14)(13, 16), (1, 8)(2, 3)(5, 9)(6, 13)(10, 12)(11, 18)(15, 16)]) = D8 x S3

Ng = Group([(1,8)(2,3)(4,7)(5,9)(6,11)(10,16)(12, 15)(13, 18)(14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11,12)(13,16), (1,8)(2, 5)(3,9)(6, 15)(7, 14) (13, 16), (1,8)(2, 3)(5,9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x D8

Ny = Group([(1,5)(2,9)(4,10)(6,17)(7,15)(11, 13)(14, 18), (1,2)(3,8)(5,9)(6, 18)(11,13) (14, 17), (4, 7)(6, 18)(10, 15) (11, 13) (12, 16) (14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1,8)(2,5)(3, 9)(6, 15)(7, 14)(13, 16), (1,8)(2, 3)(5,9)(6, 13)(10, 12)(11, 18)(15,16)]) = S4 x S3
Ng = Group([(4,14)(6,10)(7,17)(11,16)(12, 13)(15, 18), (1, 8)(2, 5)(3,9)(4, 17)(10, 18)(11, 12), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1,8)(2, 3) (5, 9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x D8

Ny = Group([(4,14)(6,10)(7,17)(11, 16)(12,13)(15, 18), (1,8)(2,5)(3,9) (4, 17)(10,18)(11,12), (2, 9)(3, 5)(4, 17)(6, 13) (10, 11)(12, 18)(15, 16), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16)]) = C2 x D8

N10 = Group([(1,4)(2,11)(3,10)(5,12)(8, 17)(9, 18), (2,9)(3,5)(6, 16)(7, 14) (10, 12)(11, 18)(13, 15), (1, 8)(2, 5)(3, 9) (4, 17)(10, 18)(11, 12), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (4, 7)(6, 18)(10, 15)(11, 13)(12, 16)(14, 17), (1,5)(2,8)(4, 16, 17,13)(6, 10, 15, 18)(7, 11, 14, 12)]) = S4 x S3
Ni1 = Group([(2,9)(3,5)(4, 14,17,7)(6,11,15,12)(10, 13, 18, 16), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1,8)(2,5)(3,9)(6, 15)(7, 14)(13, 16), (1, 8)(2, 3)(5, 9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x D8

N12 = Group([(1,8)(2,5)(3,9)(4, 17)(10,18)(11,12), (2,9)(3,5)(4, 17)(6, 13)(10, 11)(12, 18)(15, 16), (4, 7)(6, 18)(10, 15)(11, 13)(12, 16)(14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11,12)(13,16)]) = C2 x D8

N13 = Group([(1,8)(2,3)(4,7)(5,9)(6,11)(10, 16)(12, 15)(13, 18) (14, 17), (1,8)(2,5)(3,9)(4, 17)(10, 18)(11, 12), (4, 17)(6, 15)(7, 14)(10, 18)(11,12)(13, 16), (1,8)(2, 5)(3,9)(4, 14, 17,7)(6, 18, 15,10)(11, 16,12, 13)]) = C2 x D8

N14 = Group([(1,8)(2,5)(3,9)(4, 17)(10, 18)(11, 12), (4, 7)(6, 18)(10, 15)(11, 13) (12, 16) (14, 17), (4, 17)(6, 15)(7, 14) (10, 18) (11, 12)(13, 16), (1,8)(2, 5)(3,9)(6, 15)(7, 14)(13, 16), (1,9)(2, 5)(3, 8) (4, 6)(7, 18)(10, 14)(11, 16)(12, 13) (15, 17), (1, 8)(2, 3)(5,9) (6, 13) (10, 12)(11, 18)(15, 16)]) = D8 x S3
N15 = Group([(1,8)(2,5)(3,9)(4, 17)(10,18)(11,12), (1,7)(2,6)(3, 16)(4, 17)(5, 15)(8, 14)(9, 13)(10, 11)(12, 18), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (4, 7)(6, 18)(10, 15)(11, 13)(12, 16) (14, 17), (1, 8)(2, 3)(5,9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x S4

N16 = Group([(1,8)(2,5)(3,9)(4, 17)(10,18)(11,12), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1, 8)(2, 5)(3,9)(4, 14, 17, 7)(6, 18, 15, 10)(11, 16, 12, 13), (1,8)(2, 3)(5, 9)(6, 13)(10, 12) (11, 18)(15, 16)]) = C2 x D8

N1 7 = Group([(1,8)(2,3)(4,7)(5,9)(6,11)(10,16)(12, 15)(13, 18)(14, 17), (2,9)(3,5)(6, 16)(7, 14)(10, 12) (11, 18)(13, 15), (1,8)(2, 5)(3,9)(4, 17) (10, 18)(11,12), (4, 17)(6, 15)(7, 14) (10, 18) (11, 12)(13, 16), (2, 9)(3, 5)(4, 7, 17, 14)(6, 12, 15, 11)(10, 16, 18,13)]) = C2 x D8

N18 = Group([(1,8)(2,5)(3,9)(4, 17)(10,18)(11,12), (4,7)(6, 18)(10, 15) (11, 13)(12, 16) (14, 17), (4, 17)(6, 15)(7, 14)(10, 18)(11, 12)(13, 16), (1,9)(2, 3)(5,8)(7, 17)(11, 16)(15, 18), (1,8)(2, 3)(5,9) (6, 13)(10, 12)(11, 18) (15, 16)]) = C2 x S4

N19 = Group([(1,8)(2,5)(3,9)(4, 17)(10, 18)(11,12), (4,7)(6, 18)(10, 15)(11, 13) (12, 16) (14, 17), (4, 17)(6, 15)(7, 14) (10, 18) (11, 12)(13, 16), (1, 8)(2, 3)(5,9)(6, 13)(10, 12)(11, 18)(15, 16)]) = C2 x D8




